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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt five questions in all, Question number 1 is compulsory. Attempt any
four questions from question no. 2 to 8.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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Compulsory Question
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1.

Explain any two of the following :

(a) Real GDP.
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(b) Speculative demand for money.

(c) Tax multiplier.
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Attempt Any 4 questions.
=8 4 wgl &1 IR _difomal

2. What is macroeconomics ? How it is different from microeconomics ? Explain the

major macroeconomic concerns. (3,4,8)

FafteTa sefares =1 2 7 9% fre vaR afca sefare A e 2 7 fafe et
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3. (a) Explain investment multiplier. How does it work ?

(b) Explain the relationship between APC & APS and MPC & MPS.
(&) P Tuiiw o e w1 TE DY T A B 7

(¥) APC & APS T MPC & MPS ¥ ek il =l o |

4. (a) Explain the circular flow of income in a three sector economy.
(b) If MPC =.9, what is the government spending multiplier ?

(c) If MPS = .2, what is the tax multiplier ?
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5.

6.
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(a) From the following information about an economy;

C=40+0.6 Yd

I = 80 Crores
G = 40 Crores
T = 40 Crores

Find out the equilibrium level of income, consumption and savings.

(b) If government expenditure increases by Rs. 60 Crores. What will be new

equilibrium level of income ?
(37) v ke @t FefaRaa @@ Ew

C=40+0.6 Yd

I = 80 Crores
G = 40 Crores
T = 40 Crores
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How does a commercial bank create credit in a multiple banking system ?

FEafRT e § v aaidE I R yer e @ g wa ® 7
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7. What is net export function ? What determines the level of imports in an

economy ? " (5,10)
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8. What are the factors that determine Keynesian demand for money ?
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